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The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9–1) / O Level 
Business Studies, and to show how different levels of candidates’ performance (high, middle and low) relate to the 
syllabus requirements. This document helps teachers to assess the standards required to achieve marks beyond the 
guidance of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub
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How the candidate could improve their answer
•	 (a) To improve the answer and gain full marks, the candidate needed to make it clear why each characteristic 

would lead to a successful entrepreneur. All four characteristics listed achieved only 1 mark each and each 
response needed to have a developed an explanation that referred to how the characteristic would lead to the 
success of the entrepreneur in order to gain the second mark.

•	 (b) The advantage for an unincorporated business in comparison to a private limited company would have move 
the earlier section of the answer into the Level 2 mark band. For example, the accounts are kept private for a 
partnership, and this would make it more difficult for competitors to find out about and make use of the financial 
information of the business.

       This is a suitable 
characteristic, but the 
development just repeats the 
characteristic, ‘must take a risk’, 
and so does not gain the second 
mark.

       This is a suitable 
characteristic, but again the 
development just repeats the 
characteristic and so does not 
gain the second mark.

This section explains how the candidate could 
have improved each answer. This helps you to 

interpret the standards of Cambridge exams and 
helps your learners to refine their exam technique.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- or low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – middle Examiner comments

Answers are by real candidates in exam 
conditions. These show you the types of answers for 

each level. Discuss and analyse the answers with 
learners in the classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 

to interpret the standard of 
Cambridge exams so you can 

help your learners to refine their 
exam technique.

2

1
1

Common mistakes and guidance
•	 (a) Stating a suitable characteristic and then just repeating the characteristic as an explanation, for example being 

a risk-taker – willing to take risks.
•	 (a) Listing a point that is not a characteristic of the entrepreneur but rather a requirement to start a business, such 

as having sufficient capital.
•	 (a) Giving a point that is a characteristic for a manager rather than the entrepreneur themselves, such as 

coordinating employees.
•	 (a) Not developing an explanation for each characteristic as to why it is needed for the entrepreneur to be 

successful but rather including an explanation that is unrelated to the characteristic, such as being hard working 
leading to being creative.

This section lists common mistakes as well 
as helpful guidance from the examiner. This will 
help your learners to avoid these mistakes. You 
can use this alongside the relevant Examiner 

Report to guide your learners.

2
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Question 1

Example Candidate Response – high Examiner comments

       This is a suitable characteristic, 
but the development, ‘to overcome 
challenges’, is too vague to gain 
the second mark. It needs to relate 
more to the risks being undertaken, 
such as being willing to risk losing 
the capital invested in the business.

       This is a suitable characteristic 
and the development makes it 
clear that, to be successful, the 
entrepreneur will need to create 
new and unique designs to stand 
out from competitors.

       This is a suitable characteristic, 
but the development does not gain 
the second mark as it does not 
make it clear why being organised 
is important to the success of an 
entrepreneur. Being more motivated 
or making better decisions does 
not necessarily follow from being 
organised. 

       This is a suitable characteristic 
and the development makes it 
clear why responding to changing 
customer demand is needed for an 
entrepreneur to be successful.
Mark for (a) = 6 out of 8

2

1

4

3

2

1

4
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Example Candidate Response – high, continued Examiner comments

       The candidate states an 
advantage of setting up as an 
unincorporated business by 
identifying there will be less 
paperwork and correctly identifies 
that, in this context, it will be a 
partnership rather than a sole 
trader business. There is limited 
development of why this is an 
advantage by mentioning that it will 
save time and money. This part of 
the answer is firmly in the Level 1 
mark band.

       Application is credited as the 
advantage mentions that working 
capital can be used for the theatre 
so the answer is in the context of 
the business.

       There is a disadvantage stated 
for an unincorporated business 
of having unlimited liability and 
this is developed as to why it is 
a disadvantage – that personal 
assets may have to be sold if the 
business fails. By developing the 
disadvantage, the unincorporated 
business section moves into 
the Level 2 mark band. There is 
detailed discussion of the option 
where both the advantage and the 
disadvantage are more than simple 
statements, and also application, so 
the answer moves up higher than 
the bottom of Level 2.

7

6

5

7

6
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Example Candidate Response – high, continued Examiner comments

       The candidate states an 
advantage of a limited company 
as being able to raise more capital 
than a partnership by selling shares 
to family and friends and so moves 
into the Level 1 mark band. There 
is no consequence or development 
of this point so it cannot move into 
Level 2 at this point in the answer.

       There is then a mirror point 
about it providing limited liability, 
which has already been credited for 
unlimited liability so does not gain 
any further credit.

       The disadvantage of 
transferring shares and the 
implications of this for the business 
moves the limited company section 
into the Level 2.

       There is detailed discussion 
of both options, therefore the 
recommendation could potentially 
move into Level 3 so long as a 
justified decision is made that 
builds on the earlier analysis and 
is not simply a repeat of earlier 
points. The recommendation has 
a brief justified decision to choose 
the option of starting up as a 
limited company. A basic Level 3 
recommendation that is generic 
would have been awarded 9 marks. 
However, as this recommendation 
is also applied to the case, by 
recognising that the target market 
does not have a high disposable 
income to spend on theatrical 
services, then the answer moves 
higher in the Level 3 mark band and 
is awarded a total mark of 10.
Mark for (b) = 10 out of 12

Total mark awarded =
16 out of 20

8

9

9
8

How the candidate could improve their answer
•	 (a) The candidate needed to be clear why each characteristic would lead to the success of the entrepreneur. The 

two characteristics listed that only achieved 1 mark each needed to have a developed explanation that explained 
how the characteristic itself would lead to the success of the entrepreneur and not just be reasons for a successful 
business.

•	 (b) The recommendation could have included a more detailed explanation of why a limited company was chosen 
and why a partnership was less suitable for this business.

11

10

11

10
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Example Candidate Response – middle Examiner comments

       This is a suitable characteristic, 
but the development just repeats 
the characteristic, ‘must take a risk’, 
and so does not gain the second 
mark.

       This is a suitable characteristic, 
but again the development just 
repeats the characteristic and so 
does not gain the second mark.

       This is a suitable characteristic, 
but this development is too vague 
so does not gain the second 
mark. Being motivated does not 
necessarily follow from being 
passionate about the business.

       This is a suitable characteristic, 
but the development relates more to 
the running of the business rather 
than developing an explanation of 
the necessity of this characteristic 
and does not gain the second mark.
Mark for (a) = 4 out of 8

1

2

3

4

1

2
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Example Candidate Response – middle, continued Examiner comments

       The candidate states a 
disadvantage of an unincorporated 
business having unlimited liability. 
The answer explains why this is 
a disadvantage by being forced 
to sell assets to pay the debts of 
the business. The explanation is 
applied to the business as it refers 
to the purchase of costumes. The 
answer is clearly in the Level 1 
mark band and moves higher up the 
mark band due to it being applied to 
the case.

       The advantage of raising more 
capital is in comparison to a sole 
trader rather than a limited company 
and therefore does not gain further 
credit.

       The statement of limited liability 
for a limited company is a mirror 
point and has already gained credit 
for unlimited liability, so is not 
awarded any further credit.

       The second part compares 
a public limited company with 
a private limited company. The 
business is a small theatre business 
and therefore the points about being 
a public limited company are not 
relevant.

6

7

8

6

7

8

5
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Example Candidate Response – middle, continued Examiner comments

       The earlier part of the answer 
is in the Level 1 mark band and 
therefore the recommendation could 
potentially only move into Level 2 as 
detailed discussion is not included 
in the earlier part of the answer. 
The recommendation has a justified 
decision made to choose a limited 
company, including two advantages 
that have not been included earlier 
in the answer and one disadvantage 
of choosing a partnership. The 
recommendation therefore moves 
into the Level 2 mark band for a 
judgement with some justification 
of the choice made. A generic low 
Level 2 answer would gain 5 marks 
but, as there is application earlier in 
the answer, the mark moves higher 
in the Level 2 mark band and is 
awarded 6 marks.
Mark for (b) = 6 out of 12

Total mark awarded =
10 out of 20

99

How the candidate could improve their answer
•	 (a) To improve the answer and gain full marks, the candidate needed to make it clear why each characteristic 

would lead to a successful entrepreneur. All four characteristics listed achieved only 1 mark each and each 
response needed to have a developed an explanation that referred to how the characteristic would lead to the 
success of the entrepreneur in order to gain the second mark.

•	 (b) The advantage for an unincorporated business in comparison to a private limited company would have moved 
the earlier section of the answer into the Level 2 mark band. For example, the accounts are kept private for a 
partnership, and this would make it more difficult for competitors to find out about and make use of the financial 
information of the business.

•	 (b) The explanation for a limited company should have focused on a private limited company in comparison to a 
partnership, such as more capital can be raised as shares can be sold to family and friends rather than the capital 
only coming from the partners themselves.

•	 (b) If the first two parts of the answer had detailed discussion and were in the Level 2 mark band, then the 
recommendation may have moved into the Level 3 mark band.
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Example Candidate Response – low Examiner comments

       This is a suitable characteristic, 
but the development, ‘full of risks’, 
is just a repeat of the characteristic 
and so does not gain the second 
mark. The decisions could have 
made it clear what the risks were, 
such as the entrepreneur risks 
losing the investment.

       There is no development here 
and so the second mark is not 
awarded. 

       This is not a characteristic of an 
entrepreneur but rather a possible 
requirement for starting a business.

       This characteristic simply 
repeats the first one about taking 
risks and so does not gain any 
further credit.
Mark for (a) = 2 out of 8

1

2

3

4
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Example Candidate Response – low, continued Examiner comments

       The first part of the explanation 
is not clear and is more of a 
comparison with a sole trader 
business, so does not move into the 
Level 1 mark band.

       However, stating there is limited 
liability moves the response into the 
Level 1 mark band.

       The explanation about a limited 
company seems confused and the 
reference to government support is 
not correct.

       The recommendation continues 
with the misunderstanding about 
government involvement in the 
business and so no further credit 
can be awarded.  There is no 
evidence in the rewardable part of 
the answer of it being applied to the 
case and so the response can only 
be awarded 1 mark in the Level 1 
mark band. 
Mark for (b) = 1 out of 12

Total mark awarded =
3 out of 20

6

7

8

5
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How the candidate could improve their answer
•	 (a) Only two characteristics were listed and achieved 1 mark each. Each characteristic needed to have a 

developed explanation that referred to how the characteristic would lead to the success of the entrepreneur in 
order to gain full marks.

•	 (b) Explanation of an advantage of an unincorporated business and the disadvantage explained could have moved 
this part of the answer from Level 1 into the Level 2 mark band.

•	 (b) The response for a limited company should have focused on a private limited company and explained the 
advantage(s) and disadvantage(s) in comparison to a partnership.

•	 (b) If the first two parts of the answer both had detailed discussion and were in the Level 2 mark band, then the 
recommendation may have moved into the Level 3 mark band.

•	 (b) The answer could have been applied to this business by referencing, for example, that the business could be a 
partnership as there were two owners originally planning to start as a theatre business, setting up in a low-income 
area.

Common mistakes and guidance
•	 (a) Stating a suitable characteristic and then just repeating the characteristic as an explanation, for example being 

a risk-taker – willing to take risks.
•	 (a) Listing a point that is not a characteristic of the entrepreneur but rather a requirement to start a business, such 

as having sufficient capital.
•	 (a) Giving a point that is a characteristic for a manager rather than the entrepreneur themselves, such as 

coordinating employees.
•	 (a) Not developing an explanation for each characteristic as to why it is needed for the entrepreneur to be 

successful but rather including an explanation that is unrelated to the characteristic, such as being hard working 
leading to being creative.

•	 (b) Giving advantages and disadvantages of a partnership business in comparison to a sole trader business rather 
than comparing a partnership with a private limited company. 

•	 (b) Assuming that the limited company is a public limited company rather than a private limited company. The 
business in this context is small with only 24 part-time employees and would not start-up as a public limited 
company.

•	 (b) Simply repeating points made earlier in the answer in the recommendation instead of justifying the chosen 
option and justifying why the alternative option is rejected.

•	 (b) Not applying answers to the business in the context. For example, answers could have included mention of a 
theatre business with two actors as owners, putting on performances for customers occupying 100 seats. 
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Question 2

Example Candidate Response – high Examiner comments

       A suitable business objective is 
stated for 1 mark.

       The start of the response is 
explained in the context of the 
theatre and performances and gains 
the application mark.

       The next part, ‘employees 
won’t get paid ….which decreases 
ET’s productivity’, is incorrect as 
profit does not pay for wages and 
therefore is not linked to decreases 
in productivity.

       The candidate goes on to give 
a reason why profit is important, 
‘could help ET expand’ and so 
the third mark for this section is 
awarded.

       A suitable social objective is 
stated for 1 mark.

       The candidate develops their 
explanation in the context of this 
business, ‘providing better services 
for low-income families’.  Therefore, 
the application mark available for 
this section is awarded.

       Finally, there is some 
development as to why this is 
a suitable objective for a social 
enterprise, ‘to improve education 
and living standards for young 
children up to the age of 5’.  The 
application mark has already been 
awarded, so the third mark for 
explanation is awarded instead, as 
it is still an explanation of why the 
objective is important to a social 
enterprise like Daycare.
Mark for (a) = 6 out of 8
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4
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Example Candidate Response – high, continued Examiner comments

       The question asks for use of 
information in Appendix 2, and 
this response uses the figures to 
calculate total wages for option 1. 
This is given Level 1. Inclusion of 
figures from Appendix 2 means 
application can be awarded within 
the mark band.

       Total costs are calculated so 
the answer moves higher within the 
Level 1 mark band.

       The loss of $210 is calculated 
and implications of this are 
considered. This requires a greater 
depth of understanding, so the 
answer now moves into the Level 2 
mark band. 

       Total costs for option 2 are 
correctly calculated so the answer 
can move higher in the Level 1 
band if this was needed. However, 
the answer has already moved into 
the Level 2 mark band in the option 
1 section so no further Level 1 
credit is awarded.

       The profit for the second 
option is correctly calculated and 
considered leading to this part of 
the answer also being credited with 
Level 2.

8

9

8

9

12

11

10

12

11

10
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Example Candidate Response – high, continued Examiner comments

       A justified recommendation 
for option 2 due to a profit being 
made is given. Figures from earlier 
in the answer are repeated in the 
recommendation to justify the 
choice but these have already 
been credited earlier in the answer. 
There is no application in the 
recommendation, as mention of 
performances cannot be awarded 
credit as it is included as part of 
the question. As the earlier part of 
the answer is clearly in the Level 2 
mark band for correct calculation 
and consideration of loss and profit 
for both options, the answer moves 
into the lower part of the Level 3 
mark band.
Mark for (b) = 9 out of 12

Total mark awarded =
15 out of 20

1313

How the candidate could improve their answer
•	 (a) The candidate could have explained in more detail why the objective was set by either the business or a social 

enterprise. For example, making a profit is important to expansion plans by providing capital in the form of retained 
profit rather than the business needing to borrow the funds. Providing education to pre-school children that would 
not be provided to low-income families and hence helping to give these children a better start in life.

•	 (b) The recommendation could have made reference to the theatre or other information from Appendix 2 to gain 
credit for application and move the answer higher in the Level 3 mark band. 

•	 (b) Justification of why the alternative option is rejected could have moved the answer higher in the Level 3 mark 
band.
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Example Candidate Response – middle Examiner comments

       Setting affordable prices is not 
a suitable business objective but is 
how a business objective might be 
achieved.

       The explanation does not make 
clear which business objective 
is being set, such as to grow the 
business, but instead focuses on 
why lower ticket prices might be 
important. This explanation is about 
how a business objective could 
be achieved rather than stating a 
business objective and explaining 
why it is set and is too vague to be 
given any credit.

       Helping the country is not a 
social objective for the business in 
the context as it serves the local 
area.

       Allowing low-income families to 
go to work is seen as the objective 
of helping the local community and 
is awarded 1 mark. This part of the 
response also goes on to clarify this 
objective in the context of Daycare 
services, helping parents in the 
low-income area, and is given the 
available application mark.

       Helping parents increase 
their standard of living since they 
do not sacrifice working time, is 
awarded a development mark as it 
explains why this objective is set. 
This gives 3 marks in total. The last 
part referring to less unemployment 
is not rewarded as it refers to the 
country and not the local area.
Mark for (a) = 3 out of 8

1

2

3

4

5

1

2

3

4
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Example Candidate Response – middle, continued Examiner comments

       The response uses the figures 
from Appendix 2 to calculate the 
total wages for this option. This 
places the answer into the Level 1 
mark band.

       The loss of $210 is calculated 
as part of the consideration of 
option 1 which moves the response 
into the Level 2 mark band. The 
answer also recognises that the 
tickets would be cheaper for this 
option, although the actual ticket 
price is not included to justify the 
statement. 

       The total cost of this option is 
calculated and the more expensive 
ticket price is recognised. This 
part of the answer is in Level 1 
as it is a simple calculation and 
a simple statement. It is applied 
to the context by recognising that 
24 actors would be needed. This 
application in option 2 is part of a 
correct response and so this credit 
for application moves the whole 
answer further into the Level 2 mark 
band. 

       The recommendation is in 
the Level 2 mark band as the 
judgement has some justification 
for the choice due to a profit being 
made. As there is evidence of Level 
2 credit in two parts of the whole 
answer and there is application 
that is awarded credit then the total 
mark is 7, as this puts the answer 
higher in the Level 2 mark band.
Mark for (b) = 7 out of 12

Total mark awarded =
10 out of 20

6

7

8

9

6

7

8
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How the candidate could improve their answer
•	 (a) A suitable business objective could have been stated followed by an explanation of why the objective is set, for 

example, to increase profit to provide a return on the investment for the owners, as they are the people who have 
risked losing their money by investing in the business. The explanation should be in the context of the business 
outlined in the case, such as the business was set up by two actors investing their money in the theatre.

•	 (a) The social objective should have focused on the local area rather than the national level when explaining why 
this objective was set. A little more explanation would have gained the fourth available mark for this section. For 
example, it would allow working parents to work longer hours as their children are being taken care of and they 
would be able to earn higher wages, raising their standard of living.

•	 (b) The profit figure for option 2 could have been calculated and not simply stated that it would be profitable.
•	 (b) The price of the seat tickets could have been calculated and included to add justification to the statements 

about tickets being cheaper for option 1 and expensive for option 2. The implications of this on the forecast 
revenue could have also been made.

•	 (b) The justification in the recommendation could have been based on profit/loss calculations and considerations 
for both options.

•	 (b) Not making assumptions that may not be correct. For example, more actors will make the play more interesting 
and longer.
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Example Candidate Response – low Examiner comments

       To be a successful 
entrepreneur is a personal objective 
rather than a business objective so 
no credit is awarded.

       A social objective is stated and 
explained in the context of Daycare. 
The response is given 1 mark for 
the objective and 1 application 
mark for the objective being briefly 
explained in context.
Mark for (a) = 2 out of 8

2

1

2

1
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Example Candidate Response – low, continued Examiner comments

       A comparative statement is 
made, that the cost of scenery is 
cheaper compared to option 2. This 
puts the response into the Level 1 
mark band for a simple statement 
and application is awarded for 
the inclusion of information from 
Appendix 2, that cost for scenery 
etc is $1000.

       A simple calculation for total 
wage costs is included which moves 
the answer further into the Level 1 
mark band. The comments about 
needing to charge higher prices is 
incorrect as the seat price charged 
will be lower than for option 2.

       A comparative statement is 
made for option 2 as it recognises 
that revenue is higher, which moves 
the answer to the top of the Level 1 
mark band. 

       A simple mirror image 
statement is made about overhead 
costs being higher, but this has 
already been credited in option 1.

       Several incorrect statements 
are made in the recommendation. 
The top of the Level 1 mark band 
has already been reached earlier 
in the answer so even if a simple 
recommendation could have been 
credited there are no further marks 
available in this mark band.
Mark for (b) = 4 out of 12

Total mark awarded =
6 out of 20

4

3

5

6

7

4

3

5

6

7



Example Candidate Responses – Paper 2

23

How the candidate could improve their answer
•	 (a) Focus on a business objective, such as survival, and not a personal objective for the owners of the business.
•	 (a) Explain why the social objective is being set by making it clear what the outcomes for the social enterprise 

should be, such as the benefits for the children of being provided with an education before starting school, a 
service that families from low-income areas could not afford.

•	 (b) Use the figures in Appendix 2 to make additional calculations of profit or loss for the two options.
•	 (b) Calculate the seat prices for each option to enable correct statements to be made. For example, the seat price 

for option 1 is $10 which is lower than option 2’s seat price of $25.
•	 (b) Include a recommendation based on the calculations and other data provided rather than making assumptions 

that are not correct, for example, that efficiency would be increased in option 2.

Common mistakes and guidance
•	 (a) Make sure a clear business or social objective is stated at the start of the answer. An objective should be 

something the business or social enterprise is aiming to achieve, such as to make a profit or to provide a service to 
the local community.

•	 (a) To make sure the objectives are not the same for both parts, as the question clearly asks for one other objective 
that a social enterprise might have. For example, growth could be an objective for either ET or Daycare but would 
only be rewarded once.

•	 (a) Focus on why the business objective is being set rather than how it might be achieved. For example, why a 
business would have the objective to make a profit (to provide a return on capital invested by the owners) rather 
than how a profit could be achieved (the business should increase promotion of the business).

•	 (b) Simply repeating the information provided in the insert without any comment. For example, average wage cost 
for option 1 is $30 and is $10 for option 2.

•	 (b) Not making comparative statements of the two sets of data, but stating one is high or low rather than higher or 
lower.

•	 (b) Not making full use of the figures to carry out more than simple calculations. For example, only calculating total 
cost for option 1 but not calculating that a loss will be made.

•	 (b) Recommendations should be based on the results of calculations and other information provided, not just 
assumptions that have no basis.
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Question 3

Example Candidate Response – high Examiner comments

       An acceptable reason is stated, 
‘to identify when ET’s cashflow is 
unhealthy’, but the explanation of 
why this is important is generic and 
could be an explanation for any 
business. Only 1 mark is awarded 
for this reason, but no application 
mark is awarded.

       A second acceptable reason 
is stated, and the development is 
applied to the case by explaining 
that the ET theatre could make 
revenue so that the bank loan is 
justified. One mark for the reason 
and 1 mark for the explanation 
which is applied to this business in 
the context means 2 marks in total 
are awarded.

       This reason is correct but is a 
repeat of reason 1, ‘identify possible 
issues’, so no further credit can be 
awarded.

       A correct reason is stated, 
to help make decisions, and the 
explanation is applied to the case 
by giving a decision that this 
business may have to make, i.e. 
whether to increase ticket prices 
and costs to set up performances 
so 2 marks are awarded.
Mark for (a) = 5 out of 8
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Example Candidate Response – high, continued Examiner comments

       A statement, in context, is made 
about why identifying customer 
needs is important – by being able 
to predict changes and shifts in 
demand. This is in the Level 1 mark 
band with no development at this 
stage. It is applied to the case by 
referencing which performance is 
in trend, so it moves the answer 
further into the mark band. 

       The response then goes on 
to include detailed discussion of 
this role by linking it to increased 
demand and, as a consequence, 
it will raise revenue. This 
development moves the answer into 
the Level 2 mark band. 

       The response identifies that 
ET can react accordingly and make 
customers loyal if customer needs 
are met but there is no following 
consequence of this, such as 
increased sales, to move this from 
the Level 1 into the Level 2 mark 
band. 

       The statement in the first 
three lines makes it clear that 
maintaining customer loyalty will 
keep customers from going to 
competitors. This statement is in the 
Level 1 mark band.

       However, there is detailed 
discussion of the consequences on 
ET of maintaining customer loyalty, 
such as having demand assured so 
seats are booked and profit made. 
This section moves into the Level 2 
mark band.

       As there is a conclusion that 
makes a judgement, this moves 
the response into the Level 3 mark 
band. The conclusion is generic, so 
the mark is at the lower end of the 
Level 3 mark band.
Mark for (b) = 9 out of 12

Total mark awarded =
14 out of 20
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How the candidate could improve their answer
•	 (a) Make sure each reason is different and not a repeat of an earlier reason given, such as identify when there may 

be a cashflow problem and identify where it might have a liquidity problem.
•	 (a) The explanation of each reason should be applied to the context and not be generic. For example, ‘to show the 

bank manager that the business has sufficient cash to repay the loan’ is generic but ‘to show the bank manager 
that there is sufficient revenue from theatre performances is sufficient to repay the loan’ is applied to this business 
in the context.

•	 (b) Include a justification of why the alternative roles of marketing are seen as less important than the chosen role, 
such as customer loyalty is unlikely to be important if customer needs are not identified and met, as there may not 
be any loyal customers if their needs are not being met, therefore this role is less important.

•	 (b) The conclusion should have been answered in context to move higher in the Level 3 mark band. For example, 
the conclusion could have made reference to customers wanting to watch plays in the theatre or all 100 seats 
being filled or deciding which performances to put on.
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Example Candidate Response – middle Examiner comments

1

       An acceptable reason is 
stated as to why preparing a 
cashflow forecast is important, 
‘helps the business to plan for the 
future’. However, the explanation 
of this reason is generic as there 
is no mention of any aspect of 
the business in the context. No 
additional application mark is 
gained.

       This reason is correct but is 
a repeat of reason 1 so no further 
credit can be awarded. 

       An acceptable reason is 
stated: ‘know the cash inflows 
and outflows’. However, again the 
explanation is generic so only 1 
mark is awarded for the reason but 
no marks for application.

       An acceptable reason is stated, 
to identify if they may have a 
liquidity crisis but again it is generic 
so only 1 mark is awarded.
Mark for (a) = 3 out of 8
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Example Candidate Response – middle, continued Examiner comments

       The candidate makes a 
statement considering why 
identifying customer needs is 
important – by allowing them to 
respond to demand. This places the 
answer in the Level 1 mark band. As 
this part of the response is applied 
to the case, the answer moves 
higher in the Level 1 mark band. 
The second part of this answer is 
about why setting higher prices 
might not be good and is an answer 
to the question about this role of 
marketing.

       Stating that satisfying customer 
needs may improve their brand 
image moves the answer higher in 
the Level 1 mark band. Application is 
already awarded in the first part so 
reference to helping the community 
does not gain any further credit.

       Increasing brand loyalty is why 
maintaining customer loyalty is 
important but this point is just stated. 
The consequences of this are not 
discussed, so this section remains 
in the Level 1 mark band. The 
answer could have gone on to say 
that keeping customers returning to 
the theatre would ensure a regular 
source of revenue and possibly profit 
in the future. The final sentence 
about frequent shows or long hours 
went off the point of this marketing 
role. 

       As there is a conclusion that 
makes a judgement following on 
from only limited Level 1 statements 
in the earlier part of the answer 
then the response can only move 
into the Level 2 rather than Level 
3 mark band. For Level 3 to be 
awarded, there needs to be detailed 
discussion earlier in the answer on 
which to base the conclusion. As 
there is application in the earlier 
part of the response that gained 
credit, the answer moves higher up 
the Level 2 mark band and can be 
awarded 6 marks in total.
Mark for (b) = 6 out of 12

Total mark awarded =
9 out of 20
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How the candidate could improve their answer
•	 (a) Make sure each reason is different and not a repeat of an earlier reason given, such as plans for the future and 

future planning for the business.
•	 (a) The explanation of each reason should be applied to the context and not be generic. For example, ‘know the 

cash inflows and outflows of the business’ is generic, but ‘knowing the inflows from ticket sales and outflows for 
actors wages’ is applied.

•	 (b) Develop the consequences of the Level 1 statements to include detailed discussion of why each role of 
marketing is important to the business.

•	 (b) If there is detailed discussion of the roles in the earlier part of the answer, then the conclusion may have moved 
into the Level 3 mark band.

•	 (b) Apply the justification in the conclusion to the context. For example, make reference to the theatre 
performances or the 10 actors or shows for tourists or serving refreshments.
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Example Candidate Response – low Examiner comments

1
       This reason is not correct 
as it does not relate to cashflow 
forecasting.

       This reason is not correct 
as total costs would need to be 
identified before a cashflow forecast 
could be prepared.

       An acceptable reason is stated 
– ‘compare cash inflows to relative 
cash outflows’ – but the explanation 
is generic so only 1 mark for the 
reason is awarded and no marks 
can be awarded for application.

       An acceptable reason is stated 
but again the explanation is generic. 
Only 1 mark can be awarded.
Mark for (a) = 2 out of 8
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Example Candidate Response – low, continued Examiner comments

       The response focuses on how 
customer needs can be identified 
rather than why customer needs 
should be identified, so it does not 
answer the question.

       The response focuses on 
how to satisfy customer needs 
rather than why ET should satisfy 
customer needs, so it is not 
answering the question. 

       The response focuses on how 
to maintain customer loyalty rather 
than why the business should try to 
maintain customer loyalty. 

       The conclusion does identify 
the result of not identifying customer 
needs – that customers would 
not watch the plays – and it is 
applied to the context by making 
reference to people watching the 
plays. The conclusion moved up 
from the lowest mark in the Level 
1 mark band due to the credit for 
application in addition to the Level 1 
statement. The last sentence seems 
to suggest that all three roles are 
important, which is not what the 
question asks. A judgement must 
be made for one of the choices. 
It is not valid to say that all are 
important.
Mark for (b) = 2 out of 12

Total mark awarded =
4 out of 20
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How the candidate could improve their answer
•	 (a) State correct reasons for why preparing a cashflow forecast is important.
•	 (a) Make sure the explanation of each reason was applied to the context, such as referring to a bank loan to help 

set up the theatre, revenue from ticket sales, wages paid to actors, etc.
•	 (b) Include detailed discussion of each of the three roles of marketing. Each should focus on why the role is 

important and not how to achieve it. For example, identify why knowing customer needs is important and not how 
to find out these customer needs by carrying out market research.

•	 (b) Apply the roles to the context. For example, make reference to some of the following: the theatre; plays; actors; 
performances; low-income area; tourists; 100 seats.

•	 (b) Make a clear judgement of only one choice, not all three.

Common mistakes and guidance
•	 (a) Repeating the reason – all four reasons need to be different. For example, ‘helping to plan for the future’ and 

‘planning for decisions made in the future’, are essentially the same reason.
•	 (a) The explanation as to why it is important to prepare a cashflow forecast is often generic when each explanation 

of the reason needs to be applied to the context. For example, ‘to ensure there is sufficient cash to pay day-to-
day expenses’ is generic but ‘to ensure there is sufficient cash from theatre performances to pay for costs such as 
buying costumes’ is applied to this business.

•	 (b) Answers should focus on why the roles of marketing should be achieved rather than how the three roles could 
be achieved.

•	 (b) Application of the answer should be to the context. Generic responses lose the opportunity to raise marks 
higher up within each level.

•	 (b) Not developing an explanation of the Level 1 statements to include detailed discussion of why the role of 
marketing is important to the business. This restricts responses to the Level 1 mark band instead of moving an 
answer to the Level 2 mark band.

•	 (b) Not making a decision about which role is most important but saying all three roles are important. The question 
asks for a decision about which role is most important and if no decision is made then this is not an answer to the 
question.
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Question 4

Example Candidate Response – high Examiner comments

       One mark is awarded for a 
correctly named leadership style.

       By referring to the 24 part-
time employees, the explanation of 
this leadership style is in context. 
Therefore, 1 mark is awarded for 
application plus 1 additional mark 
for the explanation.

       A disadvantage of this 
leadership style is stated, of it taking 
a longer time to make decisions, 
is identified. The fourth mark is 
awarded resulting in full marks for 
this section.

       A second correct leadership 
style is named and awarded 1 mark.

       The first part of the explanation 
is too vague to be awarded as 
‘does not consider employees’ 
is not clear enough in indicating 
which leadership style is being 
discussed. However, the answer 
does then explain a disadvantage 
of an autocratic leadership style 
of being demotivating and it is in 
context by referring to the reduction 
in the quality of performances. 
Therefore, a further 1 mark for 
the disadvantage and 1 mark 
for application is awarded. A 
clear understanding shown of 
the leadership style that is being 
explained is required for all 4 marks 
to be awarded.
Mark for (a) = 7 out of 8
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Example Candidate Response – high, continued Examiner comments

       A statement, in context, is made 
identifying employees will be more 
motivated to provide better services 
for tourists and this is in the Level 
1 mark band.  As it is applied to 
the case by referring to tourists the 
answer moves higher in the Level 1 
mark band. 

       The response then goes on 
to include detailed discussion of 
paying fair wages, such as wage 
costs may be higher and profits 
reduce as a result, but labour 
turnover would reduce. Therefore, 
the answer moves into the Level 2 
mark band. 

       There is a basic statement 
that transportation costs may be 
reduced which puts this in the 
Level 1 mark band if no further 
development had been included.

       However, the response 
goes on to discuss the possible 
disadvantages of poorer quality 
costumes. This moves the answer 
into the Level 2 mark band as the 
consequence on the business of 
poor quality costumes is considered 
– that it may reduce the quality of 
performances and hence sales fall.

       Consequences of higher prices 
making them uncompetitive and so 
sales fall moves the answer further 
into the Level 2 mark band.

       There is a justified conclusion 
that follows on from detailed 
discussion, gaining Level 2, in the 
earlier parts of the answer. As a 
result, the conclusion moves into 
the Level 3 mark band.  However, 
the conclusion is generic so the 
mark is at the lower end of the 
Level 3 mark band. Reference to 
refreshments is not credited with 
application as it is in the question.
Mark for (b) = 9 out of 12

Total mark awarded =
16 out of 20
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How the candidate could improve their answer
•	 (a) Explain how the second leadership style can be used to manage employees, such as the manager is in total 

control and expects all their instructions to be followed.
•	 (b) Include a justification of why the alternative ethical issues are seen as less important than the chosen issue of 

purchasing refreshments from suppliers that do not pollute the environment.
•	 (b) The conclusion could have been in context of this business to move higher in the Level 3 mark band. For 

example, making reference to performances or 24 part-time employees or low-income area or tourists or theatre 
seats.
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Example Candidate Response – middle Examiner comments

       A correct leadership style is 
named and awarded 1 mark.

       The leadership style has 
employee opinions taken into 
account before decisions are made. 
This gains 1 explanation mark.

       The leadership style keeps the 
employees feeling important and 
motivated and gains a third mark for 
explaining.

       A second correct leadership 
style is named and is awarded 1 
mark.

       The leadership style is 
explained in terms of the individual 
making all the decisions themself 
and feeling empowered. This gains 
a further mark for the explanation of 
this style.
Mark for (a) = 5 out of 8
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Example Candidate Response – middle, continued Examiner comments

       A statement about increased 
costs is made which is in the Level 
1 mark band. As the explanation 
is applied to the case by referring 
to the 24 part-time employees, the 
answer moves higher in the Level 1 
mark band. 

       There is a further statement 
about decreasing profit which 
moves the answer further into the 
Level 1 mark band. There is not 
sufficient explanation to move the 
answer into Level 2 as the two 
points are not clearly linked to each 
other.

       This section is muddled and 
does not make correct statements 
about the effects on ET.

       There is a statement about 
providing a good image and this is 
repeated towards the lower section 
of this part of the answer. There is 
no detailed discussion and so this 
part of the response remains in the 
Level 1 mark band. 

       There is a judgement with some 
justification in the conclusion, which 
does contain detailed discussion 
of the chosen issue of paying fair 
wages. However, as the earlier part 
of the response does not move out 
of the Level 1 mark band, then the 
conclusion can only move into Level 
2, rather than moving straight to 
Level 3. The conclusion is generic 
with no context provided. However, 
since application is credited in the 
earlier part of the answer, the mark 
can move higher within the Level 2 
mark band.
Mark for (b) = 6 out of 12

Total mark awarded =
11 out of 20
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How the candidate could improve their answer
•	 (a) The explanation of each leadership style should be applied to the context. For example, the business has 24 

part-time employees or it is a theatre business or there are only two owners.
•	 (a) Include either an advantage or a disadvantage of using the second leadership style, such as decision-making is 

quick.
•	 (b) Develop the explanation of the Level 1 statements to include detailed discussion of the effects on ET of each 

ethical issue, such as explaining the effects on costs, sales and profit.
•	 (b) If there is detailed discussion of the ethical issues, then the conclusion may have moved into the Level 3 mark 

band.
•	 (b) Apply the justification in the conclusion to the context. If so, Level 3 could have been awarded.
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Example Candidate Response – low Examiner comments

       A correct leadership style is 
named and awarded 1 mark.

       An explanation of this 
leadership style is not correct so no 
further credit can be awarded for 
this section. 

       A correct leadership style is 
named and awarded 1 mark. 

       The explanation of this 
leadership style is not correct so no 
further credit can be gained for this 
section.
Mark for (a) = 2 out of 8
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Example Candidate Response – low, continued Examiner comments

       The first section is too vague to 
gain credit.

       There is a statement that 
costs will increase. This moves the 
answer into the Level 1 mark band. 
This is not applied as it refers to 
costumes and they are mentioned 
in the question so cannot be 
credited with application. 

       The consequence of higher 
prices for tickets is rewardable with 
Level 1 credit and is also applied by 
making reference to tickets, so this 
moves further up the Level 1 mark 
band. 

       The third section is too vague 
to gain any credit. 

       There is a further Level 1 
statement implying that higher 
wages will lead to higher quality 
work. The last sentence is too 
vague to gain any credit. Overall, 
the answer is at the top of the Level 
1 mark band.
Mark for (b) = 4 out of 12

Total mark awarded =
6 out of 20
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How the candidate could improve their answer
•	 (a) Explain how the leadership style could be used. For example, an autocratic leadership style is where all the 

decisions are made by the manager in charge and employees have no opportunity to contribute to decision 
making.

•	 (a) Apply the explanation of each leadership style to the context. For example, it will employ 24 part-time people, 
there will be 10 actors, two owners and they plan to start-up as a theatre business.

•	 (a) Include either an advantage or a disadvantage of using each named leadership style. For example, a 
democratic leadership style is likely to lead to more motivated employees as they feel valued by being allowed to 
contribute to the decision-making process.

•	 (b) Ensure there is reference to how the ethical issue affects the business, such as whether it will attract new 
customers or affect costs.

•	 (b) Develop the explanation of the Level 1 statements to include detailed discussion of the consequences on the 
business from each ethical issue. Does it increase costs and, if so, what is likely to happen to prices? How will 
sales be affected, or the profit gained?

•	 (b) If there was detailed discussion of the implications of the ethical issues on ET, then the conclusion may have 
been able to move into the Level 3 mark band.

•	 (b) Apply the justification in the conclusion to the context for Level 3 to be awarded.

Common mistakes and guidance
•	 (a) Vague references made as to how the leadership style can be used so it is not clear which leadership style is 

being referred to. For example, employees do what they like.
•	 (a) Responses that are not applied to the context and are generic. Reference to the context needs to be included 

as part of an explanation of the leadership style as already mentioned above, such as it will have 24 part-time 
employees.

•	 (a) Mixing up the explanations with the wrong leadership style, i.e., an explanation for democratic being named as 
autocratic.

•	 (a) Not developing an explanation of the leadership style being used for the business or its employees. Therefore 
the 2 marks for explanation of each named leadership style are not awarded.

•	 (b) Not making reference to the effect of the ethical issue on the business, such as the government will be happy 
that they are not polluting the environment. The effect should be related to ET.

•	 (b) Not applying answers to the context or just using the context mentioned in the question, so application cannot 
be credited. For example, mentioning theatre or costumes or refreshments which are in the question but not 
mentioning performances, seats, tickets or 24 part-time employees which are not mentioned in the question and 
can gain credit for application.

•	 (b) Not developing an explanation of the Level 1 statements to include detailed discussion of how each ethical 
issue may affect the business.

•	 (b) Not making a judgement that is justified as to which ethical issue is likely to have the biggest effect on ET. 
Choosing to say that all three issues will be important is not an answer to the question.

•	 (b) Making a judgement that is not justified. For example, stating the most important issue is paying fair wages and 
then not giving any justification for this statement. No credit will be given to this type of conclusion as it is simply a 
statement and there is no understanding shown as to why it might be a suitable conclusion.
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